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Absolute Value Functions (Day Two)

Another way of graphing absolute value functions — utilizing Transformation
Theories:

Translation:
Vertical Translation of a Graph:
Given any function with the graph y = f(x), and k > O:

The graph of y = f(x) + k is the graph f(x) shifted /PwaRDs K units;

The graph of y = f(x} — k is the graph f(x) shifted DownwARDS k units.
Horizontal Translation of a Graph: |
Given any function with the graph y = f{x}, and h > 0: |
Thé graph of y = f(x + h) is the graph of f(x) shifted LEFT h units;
The graph of y = f(x — h} is the graph of f(x) shifted RIGHT h units.
Reflection:
Vertical Reflection of a Graph:

Given any function with the graph y = f(x), the graph of y = - f(x) is the graph
of f(x) __ KEFLECTED in the x-axis.

Compression and Expansion:
Given any function with the graph y = f(x):

~Thegraphofy=a-f(x)isa vertical @x,'pms { G
(horizontal Compresg om )if |a| >1;

The graph of y = a - f(x) is a vertical COrnpgresSs  pm
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